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20109
PHILOSOPHY

~ ( Major )
Paper : 2.1
( Logic )
 Pull Marks - 80
| T‘!me : 3 hours, |

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese .

1. Answer the following questions as directed :

_ : _ ~1x10=10
AR SoR 2reprd Ted forat :
fa) If one of the premises is false, then the

conclusion of the argument must be

~ (Fill in the gap with either ‘true’ or
' ‘false’)

aﬁwmwwq’ﬁqﬁ?@wm_
e a0
- (_m’m‘m@’mﬁm_ﬁw)
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(2)

(b)) Who wrote the book, The Mathematical
Analysis of Logic?
The Mathematical Analysis of Logic %4

a4 1A feffee 2

{c) Who used the word ‘quantifier’ in logic for
the first time?
$Rme ‘quantifier’ *FCB (FCA  CHALCH
IRZF IR 2 :

(d) What is the first elementary valid
argument form in Rules of Inference?

S e feeTe IO A A
(3¢ &9 IR 7
fe) What will be the value of simple
propositions if the value of conjunctive
~ proposition is true? .
Sige o4 o T 3t 79 ctsﬁm’za 3
- AR g7 & 292
() Which rule is applied when we conclude
PvQ’ from P?

‘P’ WHE IFH A1 ‘PvQ’ ﬁmmﬁﬁw
o FRI ACR?

-(g). There are two/ three/ four terms in a
categoncal syllogism.

(Choose the correct answer)

aol S T e w1/ RGBT /oG o
AT | (= Teach! AfR Tferaan)
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(3)

{h) Name the figure of the syllogism in which
DARAPTI is found as a valid mood.

TRA AR AN & {eo1 7@-e DARAPTI
o1 G4 R/ |

{i) ‘Symbolize the proposition, ‘Socrates is
mortal’ according to the rule of predicate
logic.

Reaee R A WS ‘Socrates is
mortal’ F6ACH AP Fef A |

. (i} How a.n illicit major occurs?

LY TG (T (FCALT A0S 27 ?

2. Answer the following questions in brief :
. : 2x5=10
T 2Ty Y el o
(a) What is ‘Reductio ad Absurdum’
Spizeifs i’ W =2 '

(p) How do you prove that ‘Hypothehcal
: Syllogism’ (H.S) is a 'valid form of
argument?

‘e W mnammzlﬁﬂw @rﬁw
o1 A2 :

(c) Mention a suitable example of general
proposition using quantifier.

AR A IR MR BF R TRS
Targae o
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(4)

(d) How many figures are in syllogism?
Identify the position of Ma_lor terms in
". Second figure.

WWWW?WWWGW
7 A

fe) Draw a Venn Diagram on ‘E’ proposition.
‘E’ I (SAda K@ A | -

3. Give short answers for the followmg questwns
(any foun : 5x4=20

o eppTRd v Sed B (R e wife) ;-

(@) What is Indirect/Shorter Truth- Table '
Method? Explain the procedure with a
proper example.

ﬂmwﬁmﬁ?%ﬂ{@%ﬂmmmm
afem e

5 t 5 A
“(b) Prove the following argurnents using
rules of Inference :

Jv(Kv~L)
~K [:.~L-~K N
ST U1 A R A et
Jv(Kv~L) i
~K [:.~L.-~K
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(5)

fc) Explain- the: 'role of  Middle term in
syllogism. .
TS (RGoMA SRFT W10 F91 |

(d) What 1is Individual constant and

Individual variable? Write down the
differences between them.

IS e w=. 3fS afeed T [ 2 IfS ffvs
I e ASTOR T&e 43 NAFER forn 1

(e) What are De Morgan’s Rules?

De Morgan’s [ & 2

( What is Mood? Place any two valid Moods
of the Second figure.

ﬁmmmﬁmﬁﬂwﬁmﬁrm
ﬁmﬁvMﬂamu

4. Explain the rules of categorical syllogism. 10
facers URA g IR 90
Or/ m

Prove the followmg arguments by the rules of
formal proof of validity : 5+5=10

tﬁmwﬁﬁﬁmﬂwmﬁm{ﬁmﬁﬁhw
oA FA
) (AvB)>(C-D)
(DvA)DF [ ADF
() ZoA
~AvB | ZD>B
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(6)

5. What is quantifier? Distinguish between
Universal and Existential quantifier. 4+6=10
sRme T R e W e ARTETE e
M1y Aol 1 |

Or / 7371
How many valid moods are there in Third
figure? Explain with examples. 10

o e R 3y et w7 TR Oee
SusES Il '

6. What do you mean by. Aristotelian
propositions? Quantify A,E,LO according to
rules of predicate logic. 4+6=10
«fR%A w7 W & W2 CRERE (AE,LO)
Reras S$RmR g SeRm oo o9 fmn

Or / M&1
Prove the following "arguments using
existential and universal instantiation : 10
e WF TENT TIREW AW oW IR
AT F41:

(i (x)(Cx>Dx)
(x) (Ex 2~ Dx)/ - (x)(Ex D~ Cx)

(i) (x)(Dx > Cx)
(3x) (Ax- Dx}/ . (3x) (Ax- Cx)
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(7))

7. Prove the validity or invalidity of the following
arguments applying the rules of Venn
Diagarm : S+5=10

(a) All animals are mortal.
All men are animal.

. All men are mortal.

(b) All men are mortal.
No angels are men.

- No angels are mortal.

e frrmed e +R wee fr 3 Pr gl
N G 2 I

(a) S AM W T |
SRl TR A
. ST TR W |

(b) A WZ W TN |

I (RS T TR
. (P! (T[S = TR |

‘A9/863 - *{ Turn Over )



(8)

Or/ A

Prove that the following Rules of Replacement
are tautological : 2Y%2%x4=10

(a) Material Implication
(b) Transportation
{c) Commutation

(d) Tautology

e i weRfRess fam ofitR. Foostee
a9 F¥91:

(d) To:bm WS

% %k
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